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(1) %1 &8P 1 Lo spaFATE 0 3,000 ~A8 % > gk 1 b > Bfna BBE I
(2) % 2% 851 Lo FFATER 2,000 45 > ok 14 > By ERBR2 X
(3) %3 & 4P 1 Lo FFATER 1,000 ~4 5 > ok 1 #f > B EERER]
(4) &1%: HREP> LFEAF P17 XEE0.5% -

(ZH)#EP & :
(D) %1 & 821 Lo pFATER 3,000 4% > ok 14 > B XEERI
(2) %2 % 851 Lo FFATER 2,000 45 > Bk 14 > B ERBR2 X
(3) %3 & 4P 1 Lo FFATER 1,000 ~4 % > ok 1 4f > B EERBR]
(4) B1%: FipgP~> LHEAF o P13 EHEBE(0.5 X -

(Z)MT R
(1) %1 & 821 & FFATER 6,000 ~4 % > e 1 4f > B XEERI
(2) %2 851 Lo FFATER 4,000 ~4 5 > Bk 1o > B XRBR2 2
(3) %3 & 8B Lo FHEAMER 2, 000 AL o BER DR B KRR R
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